259 Third Concession Rd, PO Box 490
DA Q I S Princeton, ON NOJ 1VO
Toll Free: 1-800-387-6318

Site FUI’I’]iShm85 e Outdoor Fitness Phone: (519) 458-4882
Fax: (519) 458-8087
gATIERCEL
YYYYYYYYYY Compary www.peml.com
/ | N N | \
I~ 997 —- 9371 [t |
42.00
\_j__ ~/
| I
21.08
| I
F/N/SEED _ ] —
“ o
| DETAIL A
| - I . SCALE 1 : 8
4117, 36.00
33.75 § FOOTING mils FOOTING
. : DEPTH
| L

| o800
FOOTING

ASSEMBLY INSTRUCTIONS

AND SPECIFICATIONS

LOOP BIKERACK.2 LOOP,INGROUND
MODEL:BRL2G

MATERIAL SPECIFICATIONS

LEGS & FRAME - @ 1.90 x .095 ILG TUBE

LOOPS - @ 1.315 x .083 ILG TUBE

ITEM NO. | DESCRIPTION PART NO. | dTY.
7 2 LOOP BIKE BACK TOP 51050100 1
2 LEG F/ LOOP BIKE RACK, ING 07050000| 2
3 5/16-18 x 1.25 BHCS 6 LOBE 55 SECURITY PIBO0007001 2
4 5/16" BUTTON HEAD TORX NUT 755 110018 2
5 FLAT WASHER, 5/16 ANSI TYPE A 55 117003 2

UNLESS OTHERWISE SPECIFIED, DIMENSIONS ARE IN INCHES

SHEET 1OF 1 .. SCALE: 1:16 ~ OBAUGOO ~ REV: A




Specifications & Assembly Instructions D A R I S

Loop Bike Rack, 2 Loop
Model # BRL2S
(Galv and Powder Coat Options)

Site Furnishings « Outdoor Fitness
€ TERCEL

259 Third Cocnession Rd, PO Box 490
Princeton, ON NOJ 1V0
Toll Free: 1-800-387-6318
Phone: (519) 458-4882
Fax: (519) 458-8087
www.peml.com
931 __ -
TYP

N

f=— 0.97 — | |j=—

[e

42.60
OVERALL

2167 DETAIL A
SCALE 1 : 3

N A

\7 3376 Centres Ref. ————————=

Material Specifications

L Fram 1.90" IT ITEM NO.[DESCRIPTION PART NO. QTY.
egs & Frame "¢ 90" Steel Tube 2 LOOP BIKE RACK TOP 303-570
Loops @ 1.315" 0O.D. Steel Tube LEG F/ LOOP BIKE RACK, SFMT 303-571

5/16—18 x 1.25 BHCS 6 LOBE SS SECURITY P|N0O0007001
5/16” BUTTON HEAD TORX NUT T55 07060700
FLAT WASHER, 5/16 ANSI TYPE A SS 117003

UNLESS OTHERWISE SPECIFIED, DIMENSIONS ARE IN INCHES

QA WIN|—
NININ(N|—

SCALEN: 16 22Augld REV:0



